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> H2: 60.3 km

1 AIZF 30 &= 1.5 A%, 45 &= 0.75 AF
(1A BA EE 5 e A)

= 120.6+1.5 = 120615 = 80.4(km)

(45 2 S 2 5 JE AR)

= 80.4 % 0.75 = 60.3(km)




17} 47 em? QL AXZG ] 729 oI} 1 em

, A=z

4. 4
72101_1: CmB]’]W}?
1 11 6
@® 211—lcm ) 3—%cm ® 1Hcm
@ SHcm ® 2ﬁ cm
34
=3 3L fem)

1 11




P33 ZFo] SF ol 10emQl AAMGE S @,

©

l]:_
oA,

Ko
4 de
32
L)y
L
k)
©
Lo
8L
9,
il
o,
S)
Lo
T
9,
o
E
o
SN
o

_--10cm- - _

@ \

7 7

D1 ® =

NG
W =
w
(e}

B

(@<] Hol)=10x 7+ 2 = 35(cm?)
(@2] Wol)= (34 10) x 10 + 2 = 65( cm?) 0] L&
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